MISCELLANEOUS QUESTIONS

[SET - 36]

Directions (1-5) : Study the information given below
and asnwer the given questions :

In a certain code ‘facing problems with health’ is
coded as ‘mlp hlt ngi snk’, ‘health problems on rise’ is
coded as ‘hlt sa rtv mlp’, ‘rise with every challenge’ is
coded as ‘snk rtv ine riy’ and ‘facing challenge each
day’ is coded as ‘ngi riy nop hus'.

1. What could be a code for “ine"?

(a) facing (b) with (c) every (d) rise
2. “riy rtv roi” could be a code for which of the

following?

(b) rise health challenge
(d) with rise challenge

(a) rise above challenge
(c) day rise challenge

3. Which of the following is the code for ‘facing’?

(a) nop (b) rtv (c) ngi (d) snk
4. “riy snk mlp” could be a code for which of the

following?

(b) challenge with health
(d) every challenge facing

(a) problem every day
(c) with health day

5. Which of the following is the code for ‘day’?

(a)riy (b) nop
determined

(c) ngi  (d) Cannot be

Directions (6—10) : Eight friends A, B, C, D, E, F, G and
H are sitting in a circle, but not necessarily in the
same order. Four of them are facing outside and four
of them are facing the centre. E faces outside. Both
the immediate neighbours of E face the centre. H sits
second to the right of E. B sits third to the left of E.D
faces the centre. Both the immediate neighbours of D
face outside. G sits second to the left of A. B sits
third to the right of H. F is an immediate neighbour of
D. C is an immediate neighbour of G. D is not an
immediate neighbour of B.

6. Who amongst the followig sits on the immediate
right of
H?

(a) A (b) D

©C  (d)G

7. Who amongst the following sits third to the right of

A?

(@)D (b) E () F (d) A

8. Four of the following five are alike in a certain way,
based on the information given above and so form a
group. Which of the following that does not belong to
this group ?

(a) HA (b) FH (c) GC (d) DA

9. If all the people are made to sit in an alphabetical
order,

in clockwise direction starting from A, the position of
whom amongst the following remain the same
(excluding
A)?

(@ E (b) F (c)C dG

10. Who amongest the following sits exactly between
F and C (and is also their neighbour) ?

(@) E (b) B (c)B (d)A

11. If 27th December 2009 was a Thursday, then
what day of the week was it on 1st March 2010?
(@) Thursday (b) Friday (c) Sunday (d) Monday
12. A man is facing towards the east. He turns 270
degrees clockwise and then takes a right turn. Finally,
he turns 90 degrees anticlockwise. Which direction is
he facing now?

(a) West (b) South  (c) North (d) East

13. Which set of letters when sequentially placed at
the gaps in the given letter series shall complete it?

p_rt_rr_p_rt
(b) rrtp
14. A series is given with one term missing. Choose

the correct alternative from the given ones that will
complete the series.

(a) rptr (c) ptrr (d) tprt

TP, UQ, WS, 2V, ?

(a) EY (b) DZ (c) CY (d) cz



15. A series is given with one term missing. Choose
the correct alternative from the given ones that will
complete the series.

RP, DM, SQ, CL, TR, ?

(a) AJ (b) US (c) DM (d) BK

Directions (16-20): In each of the following questions,
a question is followed by information given in three
statements. You have to study the questions along
with the statements and decide the information given
in which statements is/are sufficient to answer the

question.

16. Who among Tinku, Sunny, Jimmy and Ricky is the
tallest?

[.Tinku is not as tall as either Sunny or Ricky.

[l.Ricky is shorter than Jimmy, who is not as tall as
Sunny.

[ll.Jimmy is not the tallest.

(@) Only land Il
(c) Only land Ill

(b) Only Il and Il
(d) AL, 11 and III

17. How is A related to D?

I. Eis A’s wife.

Il. F is sister of G, whose father is A.

lll. H is the only sister of F, who is daughter of D.

(@) Only land Il
(c) Only I and Il

(b) Only Il and Il
(d) AllT, 1l and Il

18. What is the position of Akash from the bottom in
a class of 45 students?

I. Aashi is 18th from the top and there are five
students between Akash and Ashi, who is not below
Akash.

II. Anuj is 15th from the bottom and Akash is four
positions below Anu;j.

[ll. Rashi is 9th from the bottom and there are four
students between Rashi and Akash. Rashi is not
above Akash.

(@) Only | (b) Only Il
(d) Any of the three statements

(c) Only 1l

19. P, Q, R, Sand T are sitting around a circular table
facing the centre. Who is second to the right of P?

I. Sis second to the left of R, who is on the
immediate left of T.

IIl. T can not sit adjacent to P.

[Il.P is third to the right of Q, who is on the immediate
left of S.

(@) Only land Il (b) Only I'and I

(c) Alll, Il and 11l together
(d) Either Ill or | and Il together

20. In a certain code, ‘will you do this’ is written as
‘97 3 4. What will be the code of ‘this"?

l. ‘you can do easily’ is writtenas ‘3129'.

Il. ‘how are you' is written as ‘53 8'.

1. ‘l will give up’ is writtenas ‘6 7 # $'.

(@) Only Iand II
(c) Only land Ill

(b) Only Il and Il
(d) Any two of them

Directions (21-25): In each question below are given
two or three statements followed by two conclusions
numbered | and Il. You have to take the given
statements to be true even if they seem to be at
variance with commonly known facts and then
decide which of the given conclusions logically
follows from the given statements, disregarding
commonly known facts.

Give answer

(a) if only conclusion | follows.

(b) if only conclusion Il follows.

(c) if either conclusion | or Il follows.

(d) if neither conclusion | nor Il follows.

(e) if both conclusions | and Il follow.

(21-22): Statements: All silver is gold. All gold is
metal.
All metals are precious.
21. Conclusions: .All metals being silver is a
possibility.
Il.At least some silver is precious.

22. Conclusions: |.Some gold is metal as well as
precious.
IlLAll gold is precious.

(23-24): Statements: All plants are trees. No tree is a
tole.
All toles are green.

23. Conclusions: |.Some toles being plants is a
possibility.
II.No tole is a plant.

24. Conclusions: |.All plants being green is a
possibility.
II.No green is a tree.

25. Statements: Some kites are papers.
Some papers are black.

Conclusions: 1.Some kites being black is a possibility.
[lLAll papers are not necessarily kites.



